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=& 7 e = 38 () g B * 38 ()
Bz 7,700| | S LY -#/I\VY 120
A-3JEHE 2 N 3300| | 7Y 3/\v 1,730
PICU 2,200| | FREXD /Ny 60
A-AsfEHE E= 7,700 Eﬁ@%@ﬁﬁ Z LY (Th{ER) 200
2 AR 3,300| | REK 600
@@= 7,700 | OVIN—2X 8,180
Cmi& 2 NFR 3,300( | /N\1ILY—Y 2,090
PICU 2,200 | LARY/N\Y 2,410
(EES 3300| | = ~UM 5,400
E-1%51% 2 NER 2200 | =~VL 5,500
PICU 2,200| | BA&GtY ~ GERD 1,230
E-25mi% 2 NFR 2,200| | BEGtEzY ~ (ARD 820
B-2yst @= 55600| | HREE 220
2 AR 2,200 | REEDHGECER) 15,400
DI B= 5500| | ZLAVABKEZ AVH/IN—11)/8 620
ZLNYBAKEZ ANYAIN—)/8 500
ZN\YCEBME ALY ND/IN—11)/8 400
ZHYVD( FR)/8 170
ZLVERE/ N> -7 LAY - FRERD /Ny ~/B) 500
ZNYEERNY -2 Y /8) 240
ZLVGHER/ N R LAY - FRERD /Ny ~/B) 650
SZ)VEEA/B 70
7 )VEEB/B 100
SZ)VFEEC/8 250
A7 )VEED/B 210
A7 )VEE/B 330
R/ B XARYBEERDH 7,440
YD AiE/ B 3410
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Ny b-IvT—EEFID 2860| | hy - Yv Y T—EEFID 2,860
AN LD, 2530| | Ay ~-ERID 2,530
Ny b-IvYT— 2530| | Ay YvYT— 2,530
Ny =DH 2,200| | Ay ~DH 2,200
283D D> 1,100]| | BRIV DH 1,100
NP—=N2—(Av ~-E8FID) 4,950
NP —=AS—(EBRHD) 3,080
NP—7)2— 2,750
BHIAHNT— (N ~-EFD) 3,960
BHIAHNAS— (Y ~orEB3l0) 2,640
BHIAHND— 2,100
S v T —DH 1,050
BIEDH 320
=i s A 1,050




